Pos. Item nr. Name Quanti Pos. Item nr. Name Quanti
Nr. ty Nr. ty
1 B94.0001.09 Carter 1 19 B94.0004.09 Delivery case 1
2 B94.0047.76 | Eccentric rod ring 2 20 B94.0041.31 Membrane 1
3 B94.0005.09 Eccentric rod 1 21 B94.0003.09 Cover 1
4 B94.0017.08 Piston & 42 2 22 B81.7537.00 Ring & 33 1
S B85.2004.00 | Piston pin & 10x35 2 23 B81.4574.00 Nut M8 4
6 | B80.0003.00 | Locking ring & 10 4 25 B86.1605.00 Valve 1
7 B94.0007.01 Cylinder & 42 2 26 B84.3642.90 Gland & 8.1 1
8 B94.0040.31 Membrane 2 27 B94.0043.32 Oil fill tube 1
9 B94.0036.32 Membrane disk 2 28 B94.0044.31 Cover 1
10 | B94.0048.43 | Membrane locking 2 31 B84.3685.00 Ring M8 8
bolt

11 B94.0002.09 Valve housing 2 41 B&80.3219.00 O-ring & 3x25 4
12 | B86.2796.00 Bolt M8 x 40 2 49 B82.4154.00 O-ring & 30 4
13 | B80.3181.00 | O-ring & 2,62x15,54 | 12 51 B94.9828.97 Valve unit 4
14 | B94.0014.32 Suction tube 4 52 B94.0091.98 | Valve housing cover 2
15 | B80.3060.00 O-ring 2x15 1 53 B86.2458.00 Plug M 8x12 1
16 | B84.0521.00 | Suction tube @ 18 1 54 B94.0080.72 Gland 1
17 | B82.0042.10 Nut 3 /4” M26 1 55 B94.0090.98 | Valve housing cover 4
18 | B94.0075.66 Plug 1

'EMPAS'B.V.
Huneschans 18
3905 XL Veenendaal
Telefoon (0318) 52 58 88

Telefax

Bezoekadres:
| Munnikenweg 36

(0318) 52 74 88




Tek. Code Benaming Aantal Tek. Code Benaming Aantal
Nr. Nr.
1 B94.0001.09 Karter 1 19 B94.0004.09 Perskast 1
2 B94.0047.76 Drijgstang ring 2 20 B94.0041.31 | Membraan drukketel 1
3 B94.0005.09 Drijfstang 1 21 B94.0003.09 | Deksel drukketel 1
4 B94.0017.08 Zuiger & 42 2 22 B81.7537.00 Knelring & 33 1
5 B85.2004.00 | Zuigerpen & 10x35 2 23 B81.4574.00 Moer M8 4
6 B80.0003.00 Veerring & 10 -+ 25 B86.1605.00 Ventiel 1
7 B94.0007.01 Cilinder & 42 2 26 B84.3642.90 Pakkring & 8,1 1
8 B94.0040.31 Membraan 2 27 B94.0043.32 Olievulpijp 1
9 B94.0036.32 | Membraanschotel 2 28 B94.0044.31 | Deksel olievulpijp 1
10 | B94.0048.43 | Membraanbevestig- 2 31 B84.3685.00 Sluitring M8 8
ingsbout
11 | B94.0002.09 Kleppenkast 2 41 B80.3219.00 O-ring J 3x25 4
12 | B86.2796.00 Bout M8 x 40 2 49 B82.4154.00 O-ring & 30 4
13 | B80.3181.00 | O-ring & 2,62x15,54 | 12 51 B94.9828.97 Klepunit 4
14 | B94.0014.32 Aanzuigbuis 4 52 B94.0091.98 | Klepdeksel zuigzijde 2
15 | B80.3060.00 O-ring 2x15 - 1 53 B86.2458.00 Olie-aftapbout 1
M 8x12

16 | B84.0521.00 | Aanzuigbuis & 18 1 54 B94.0080.72 Karterpakking 1
17 | B82.0042.10 | Wartel 3/4” M26 1 55 B94.0090.98 | Klepdeksel perszijde 4
18 | B94.0075.66 Plug 1

‘EMPAS'B.V.
Huneschans 18
3905 XL Veenendaal
Telefoon (0318) 52 58 88
Telefax (0318) 52 74 88
. Bezoekadres:
| Munnikenweg 36



